[Case: I.1.1, Solver: 3, D = 0.0m?2/s, v = 0.00m/s, At =2.01, 7 = 1.0 x 10725, N, = 101]

HTe[t = 2-00,P] - Te[t = O7PH|/Te[t = O,p]
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Spatial averaged instant error
[Case: I.1.1, Solver: 3, D = 0.0m?/s, v = 0.00m/s, At =2.01, 7 = 1.0 x 10725, N, = 101]
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Spatial averaged global error
[Case: I.1.1, Solver: 3, D = 0.0m?/s, v = 0.00m/s, At =2.01, 7 = 1.0 x 10725, N, = 101]
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[Case: I.1.1, Solver: 4, D = 0.0m?/s, v = 0.00m/s, At =2.01, 7 =1.0 x 107%s, N, = 101]

HTe[t = 2-00,P] - Te[t = O7PH|/Te[t = O,p]

0, pl[l/nelt = 0, p]

[Ine[t = 2.00, p] — ne|t
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[Case: I.1.1, Solver: 4, D = 0.0m?/s, v = 0.00m/s, At =2.01, 7 =1.0 x 107%s, N, = 101]
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Spatial averaged instant error
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Spatial averaged global error
[Case: I.1.1, Solver: 4, D = 0.0m?/s, v = 0.00m/s, At =2.01, 7 =1.0 x 107%s, N, = 101]
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[Case: I.1.1, Solver: 7, D = 0.0m?/s, v = 0.00m/s, At =2.01, 7 = 1.0 x 107%s, N, = 101]

Profile relative error
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Spatial averaged instant error

[Case: I.1.1, Solver: 7, D = 0.0m?/s, v = 0.00m/s, At =2.01, 7 = 1.0 x 107%s, N, = 101]
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[Case: I.1.1, Solver: 7, D = 0.0m?/s, v = 0.00m/s, At =2.01, 7 = 1.0 x 107%s, N, = 101]
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Profile relative error
[Case: I.1.1, Solver: 10, D = 0.0m?/s, v = 0.00m/s, At =2.01,7=1.0 x 10728, N, = 101]
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Spatial averaged instant error
[Case: I.1.1, Solver: 10, D = 0.0m?/s, v = 0.00m/s, At =2.01,7=1.0 x 10728, N, = 101]
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[Case: I.1.1, Solver: 10, D = 0.0m?/s, v = 0.00m/s, At =2.01,7=1.0 x 10728, N, = 101]
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Electron temperature

104
1079 |-
1076 -
1077
1078
1077
10710 =
10711 =
10712 =
10713
10~

10715

10716 =

10717 =

—18
10 0.0

Electron density

104
107 |
1070
1077
107° |
1077
10710 =
10—11 =
10—12 =
10—13 =
10—14 =

10715 =

10—16 -

10717 =

1 —18
0 0.0

{I1T3[t] — T5[0]|| /T5[0] } 4

2

NP
1=

[1/(Np = 1] 325

{lIni[t) — na [0}l /ns[0]}:

2

NP
i=

[1/(Np = 1)) 325

lon temperature

lon density
107 A

] s ot S
L
e S s
L R S
] R R S
oo b
1071 f--en- -------- -------- ------- .
P S R SN S
RS S S S T S
YIRT) TS UUUTIE FOVORS NS S

1015 b

10~ - e i e -

T

Lg-18 A R



